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U(t) =�	�� ���>� ���#
 %#
��� �#�9 5�**� )�%��-�)	
 RI +q/C = U

	�	

RI +
1

C

t∫
Idt = U .

A	33���)�	���* 	 %#��2��* ���$)�)	�

R
dI

dt
+

I

C
=

dU

dt
.

A�� #4/�
 1�$	�	*#��	 U(t) ��"�)	� ��#-)#� 	 *��#$��1�*	����)#��  ���*#��	*

2���),
 ���2�
+ 2�#4, %#)��� ����� ����� U(t) = 0 %�	 t < 0, U(t) = U0 %�	

t > 0 =���2#� )�%��-�)	�>� �#(�� %�	 t > 0 %��$�� 2���� dU/dt = 0 �  �"��*8

dI/I = −dt/RC, I = I0 · exp(−t/RC) � �%�������* I0 8 $ )�2���),
 *#*�)� C �/� )�
�T�H� I�� I��������� ����� � I��������	 �� �>
�� ��I����	����� � ������ ���������������
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��%�� 1����	����U �#(�� )� )�* )�� )�%��-�)	� 	 I0 = U0/R � ��#)2�����)# %#��2��*

�#� 	 )�%��-�)	� )� �#)��)���#��8

I = (U0/R) · exp

(
− t

RC

)
, UC = U0 − RI = U0 ·

(
1 − exp

(
− t

RC

))
.

]�������)#� $��*� �%��� �#�� =	�	 1����� �#)��)���#��> τ = RC � ���	 $7#�)#� )�0

%��-�)	� U(t) *�)����� 1� 4#��� ��	����)#� $��*�+ �# *#-)# �2	����+ 2�# C ��%�$���

1���-����� 	 )� )�* 4���� %����	2���	 U(t) � �#)��)���#� �#(�� %�	4�	1	����)# �##�0

$����$��� ��1�,$� $ ��%	� ���	 -� U *�)����� 4,���# $ *��"��4� RC+ �# )�%��-�)	�

)� �*�#��	 *��#̂ %# ���$)�)	. � U =%#2�	 $�� %����� )� �#%�#�	$��)		U �#)��)���#�

��4#���� ��� ?1��#�#���@>�

����
��* � )�	4#��� $�-)#*� ���2�. �	)��#	����)#(# )�%��-�)	�8 U =

U0 cos(ωt) � �#(��

R · dI

dt
+

I

C
= −U0ω · sin(ωt) .

�#��� %#���.2�)	� <�#
 ��%	 � ���	 =)�%�	*��+ $ *#*�)� t = 0> $ ��2�)	� �#�#��#(#

$��*�)	 t < 1/ω ��"�)	� 4���� �7#�)# �# ���2��* %#��#�))#(# )�%��-�)	� )� $7#���

�#)��)���#� 4���� %#���%�))# 1���-�����+ � )�2���),
 �#� Z �%������ _���* )�2)��

���1,$����� %���*�))#��� $7#�)#(# )�%��-�)	� =���� %��$�� 2���� ���$)�)	�>+ �#�#���

$,1#$�� $ ��%	 �#��4�)	�� `�)#+ 2�# $ %#�)#* $	�� ���#� ���$)�)	� ��"	�� ��#-)���

��)��# %#�)#(# ��"�)	� )�* 	 )� %#���4������ ����1 )���#���# 7�������),7 $��0

*�) RC $�	�)	� *#*�)�� %#���.2�)	� ?1�4������@ 	 #���)���� �#���# �#��4�����),


%�#����� � ��7)	�� %��	*�/���$�))# $�-), ���������	�
�� �#�	+ %#�#-���*,� %�0
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��$	�*	 )� �7�*� 	 ��/���$�./	� $ ��2�)	� )�#%������))#(# $��0

*�)	� �����#$��*�)),� -� 	*%����,+ $#1)	��./	� %�	 $��.2�)		 	101� )��#(���#$�)0

)#��	 ����)#$	$"�(#�� ��"�)	� � )�2���),*	 ���#$	�*	+ )�1,$�.��� �
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 	)������ � <�#* ��1���� *, #(��0

)	2	*�� ����)#$	$"	*	�� ��"�)	�*	+ ��� #�,���)	� �#�#�,7 ��/���$�.� (#��1�#

4#��� %�#	1$#�	����),� *��#�,+ 2�* �#4#$#� ��"�)	� �	33���)�	���),7 ���$)�)	
�

5������ #-	����+ 2�# ����)#$	$"	
�� �#� 4���� �#��4����� � 2���#�#
 )�%��-�)	�

���	� �# %�#���
"	� �#��4�����),� ��"�)	� sin(ωt) 	 cos(ωt) + #2�$	�)#+ )� %#�7#����

��#4��* I = I0 cos(ωt+ϕ) + (�� ϕ Z %#�� )�	1$���)�� %#��#�))�� $��	2	)�+ )�1,$��*��

������� ����� �#����$���*8

−RI0ω sin(ωt + ϕ) + (I0/C) cos(ωt + ϕ) = −U0ω sin((ωt + ϕ) − ϕ) =

−U0ω cos ϕ sin(ωt + ϕ) + U0ω sin ϕ cos(ωt + ϕ) .

����*�)),� sin(ωt + ϕ) 	 cos(ωt + ϕ) �#�-), ���$)	$����� %# #�����)#��	� ���.��

RI0 = U0 cos ϕ, I0/ωC = U0 sin ϕ .

�#��2��* Faϕ = 1/ωRC, I0 = U0/
√

R2 + (1/ωC)2 �  �"�)	�8

I =
U0√

R2 + (1/ωC)2
cos(ωt + ϕ) , (�� Faϕ =

1

ωRC
.
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A�� )�(���)#��	 %#��1), �
���
��
 ����
����� �1#4��1	* �#� I0 (#�	1#)����0

),* $���#�#*� ����*�)),
 �#� I0 cos(ωt) %#��2	*+ 1�����	$ 	�7#�),
 $���#� %�#�	$

2��#$#
 ������	 � �(�#$#
 ��#�#���. ω8 (#�	1#)����)�� %�#���	� $���#�� 	*�))# 	

���� )�-)�. $��	2	)�� ��%��-�)	� )� �#%�#�	$��)		 RI 	1#4��1	��� $���#�#*+ %�0

�������),* �#��� 6�#� $���#� $��/����� �#2)# ��� -�+ #�4���,$�� )� (#�	1#)����)�.

#�� %�#���	. Z )���#�/�� )�%��-�)	��

��	 �#�� I = I0 cos(ωt) )�%��-�)	� )� �#)��)���#�� =%�#%#��	#)���)#� 1�����+

���� 	)��(���� #� �#��> 4���� (I0/ωC) sin(ωt) � �(# 	1#4��-��* $���#�#* ��	), I0/ωC +

)�%��$��)),* %#� %��*,* �(�#* � �#�� $)	1 )� �	��)�� ��&� ��� ��1 %�	 %#$#�#�� )�

�(#� ωt �(# (#�	1#)����)�� %�#���	� 4���� (I0/ωC) sin(ωt) �

 	�� ��&�  	�� ��\�  	�� ��b�

5�**� �����),7 )�%��-�)	
 Z <�# ��**� %�#���	
 )� (#�	1#)����)�. #��+ ��$)��

%�#���		 ��**, $���#�#$� �#<�#*� *#-)# )��	�#$��� $���#� ��**��)#(# )�%��-�0

)	� ��	)#
 U0 = I0 ·
√

(1/ωC)2 + R2 � 6�# 	 4���� �*%�	���� $7#�)#(# )�%��-�)	��

��%��-�)	� #������ %# 3�1� #� �#�� )� �(#� ϕ+ %�	2�* Faϕ = 1/ωRC �

A�� %#�)#(# �##�$����$	� � %���,��/	* ��"�)	�* *#-)# %#$��)��� ����	)�� $

	�7#�)#* %#�#-�)		 )� �(#� ϕ+ �#(�� (#�	1#)����),* $���#�#* 	1#4��1	��� )�%��-�0

)	�+ � �#� 4���� $���#�#* ��	), U0/
√

R2 + (1/ωC)2 + 	*�./	* )�2���),
 )���#) ϕ�

A���� $�� �	�(��**� ����	��� �# ��#�#���. ω %�#�	$ 2��#$#
 ������	 =�	�� ��\>�

�#%�#4��* *��#� $���#�),7 �	�(��** )� LR Z ��%	� _��#) 
������ %�	*�)	����)#

� �#)���� � 	)����	$)#���. 1�%	"�* $ $	��

E = −dΦ

dt
= −L

dI

dt
=5�> , E = − 1

c2

dΦ

dt
= −L

c2

dI

dt
=5[5>.

��� $	�)#+ 1���� #��1,$����� ��#4)�� �	���*� 5��� � <�����#��7)	�� �#%���	*# %��0

)�4��(��� 1�*,��./	*	 %�#$#��*	 	 #�)#�	�� <�� 	)����		 E 	���.2	����)# � 	)0

����	$)#��	�

��#4, ��#*%�)�	�#$��� <�� <�� 	 %�#(#)��� �#� 2���1 	)����	$)#��� =%������$0

��./�. �#4#
+ %#%�#���+ ��	$#
 %�#$#�>+ )�-)# %�	�#-	�� )�%��-�)	� #4���)#0

(# 1)���8 UL = +L · dI/dt � ��	 �#�� I0 cos(ωt) )�%��-�)	� )� 	)����	$)#��	

UL = −ωLI0 sin(ωt) � 6�# Z %�#���	� $���#�� ��	), ωLI0+ #%���-�./�(# �#� )� �(#�

π/2� 5�**� $���#�#$ )�%��-�)	
 4���� I0 ·
√

(ωL)2 + R2 	 )�%��$��)� %#� �(�#* ϕ

� �#��+ �#-� � #%���-�)	�*U Faϕ = ωL/R � ���	 1����� )�%��-�)	� (#�	1#)����),*+

���	 �������� � ��I���������� ��� G����� � =P � =U= �� ����V����	W ��I������ V�� � =P ���

�
���	���	 � ��I����� ��I�	����� M � �������� ������� � G������� � ��I���������� � �����
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U = U0 cos(ωt) + %�	���* ����	)�� )�2���),
 %#$#�#� )� �(#� ϕ )�1�� =�	�� ��b>� �*��*

I = (U0/
√

R2 + (ωL)2) cos(ωt− ϕ) �  �1������ %#��2����� 4,����� 	 )�(���)��+ 2�* %�	

%��*#* ��"�)		 �	33���)�	���)#(# ���$)�)	��

5�/���$��� �%��	���),
 *���*��	2���	
 �%%����+ %#1$#��./	
 �/� ���#�	�� ��0

"�)	� ���	7 1���2 Z %������$��)	� $��	2	) $ �#*%����)#* $	���� �# 3#�*��� 6
����

exp(ix) = cos(x) + i sin(x) � _�%	"�* $7#�)#� )�%��-�)	� $ $	�� U0 exp(iωt) + �# ����

%�	4�$	* � )���#�/�*� U *)	*�. 2�����  �1�*�����+ #)� $,1#$�� �#4�$#2),
 *)	*,


�#�� 5�**��),
 �#� �#-� 	/�* $ $	�� I = I0 exp(iωt) � �)	*,� 2���	 *, #�4�#�	* $

�#)�� ���2����

��%��-�)	� )� 	)����	$)#��	 UL = +L · dI/dt � ��	 �#�� I = I0 exp(iωt) )�%��-�0

)	� UL = iωLI0 exp(iωt) = iωL · I�  �"��*8

RI + iωLI = U ; I =
U

R + iωL
,

��� ��� $# $��7 ���(��*,7 #�	)��#$�� 1�$	�	*#��� #� $��*�)	8 exp(iωt) � �#%�#�+ ���

<�# %#)	*���� ��%#*)	*+ 2�# )��# $1��� ��
��$	����)�. 2���� �#��� �������$	* 1)�0

*�)����� $ <��%#)�)�	���)#
+ 	�	 %#��1�����)#
+ 3#�*�8

z = x + iy =
√

x2 + y2 · exp(iϕ) , (�� Faϕ = y/x .

_)�*�)����� R + iωL =
√

R2 + (ωL)2 exp(iϕ) , (�� Faϕ = ωL/R � �#(��

I =
U0√

R2 + (ωL)2
· exp(i(ωt − ϕ)) ⇒ U0√

R2 + (ωL)2
· cos(ωt− ϕ) .

�#��2�) �#� -� ��1������+ 2�# %�	 $���#�)#* �%#�#4�+ )# 1�*��)# 4,�����+ ��-� %�	

%��$#
 %�#4�� �)��#(	2)# ��� �#)��)���#�� �#�� I = I0 exp(iωt) �##�$����$��� )�%��0

-�)	� UC = I0 exp(iωt)/(iωC) = I/(iωC)�

����+ ��� ��-�#(# <��*�)�� %�	 �#�� $ $	�� *)	*#
 <��%#)�)�, �#*%����)#� )�0

%��-�)	� %�#%#��	#)���)# �#��+ ���� ��/���$��� �)��#( �#%�#�	$��)	�8

U = ZI ; ZR = R , ZC =
1

iωC
, ZL = iωL .

6�	 �#*%����),� ?�#%�#�	$��)	�@ )�1,$�.��� ���
�������� A�� )	7 $,%#�)�.���

�� -� %��$	�� �#��	)�)	� 	 1��#), �	�7(#3�+ ��� ��� #4,2),7 �#%�#�	$��)	
+ 	

1���2	 ��"�.��� ��� -�+ ��� $ ��%�7 %#��#�))#(# �#��� �#���# $ �#)�� )��# $,���	��

��
��$	����)�. 2�����

A�� ��1#)�)�)#(# RLCZ�#)���� =�	�� ��c> RI + (1/iωC)I + iωLI = U U

I =
U

R + i(ωL − 1/ωC)
=⇒ U0√

R2 + (ωL− 1/ωC)2
· cos(ωt− ϕ) ,

(�� Faϕ = (ωL − 1/ωC)/R � _�$	�	*#��� �*%�	���, �#�� #� 2���#�, Z ��1#)�)�)��

��	$�� Z %#7#-� )� ?*�7�)	2����.@ =)� �	�� ��d %#��1�), ��	 ��	$,�+ � �#�#�,7

����
������� G������ ���I������� ��J�
�� � �� �
��������	 ��

���>��	 � I����������



d ����� �� ���������� ���

 	�� ��c�  	�� ��d�  	�� ��e�

#��	2�.��� �#%�#�	$��)	�>� _���� �#-� $)�")�� �	�� $,1,$��� �#��4�)	�+ %�	2�*

�)��#( *���, Z L+ ���)	� Z R+ � �%��(#��	 Z 1/C� ����	*�* �#�� �#��	(�����+ �#(��

ωL = 1/ωC ; ω0 = 1/
√

LC =�#4��$�))�� 2���#�� �#)����>� ��	 7�������),7 $��	2	)�7

L = 10 *�[+ C = 1 )
+ R = 0,1 �* ω0 = 107 [�+ 2�# �##�$����$��� ��	)� $#�),

2πc/ω0 = 200*� �������
 ���
�����
��

√

L/C = 100 �*� �4�	1	 ω0 $,��-�)	�

(ωL − 1/ωC) = (ω0 + Δω)L − 1/(ω0 + Δω)C ∼= 2 · √L/C · Δω/ω0 � �	�	)� ��1#)�)�)#


��	$#
 2Δω #%���������� %# %���)	. �*%�	���, �#�� $
√

2 ��18 2 ·√L/C ·Δω/ω0 = R +

2Δω/ω0 = R
√

C/L� A�� $,4��)),7 %���*���#$ %#��2��* 2Δω/ω0 ≈ 10−3� ���#� ��1�#�

%���)	� �*%�	���, � �����)	�* #� ��1#)�)�� �	%	2)# $ ���	#��7)	�� 	 %#1$#����

)����#	���� )� )�-)�. ���)�	. =2���#��>+ )� ��,"� ���(	7�

���	 %#��1#$����� 	*%���)��*	+ �# 1���2	 # ��%�7 %���*�))#(# �#�� �# #%������)0

)#(# <��%� 3#�*���)# ��"�.��� ��� -�+ ��� <�# �������� %�	 %#��#�))#* �#��� ��)��#

%�	 %���7#�� � �����),* 1)�2�)	�* %#�$��.��� ��/���$�)),� #��	2	�� ��%�	*��+ $

��1#)�)�� )�%��-�)	� )� �#%�#�	$��)		 RI ��$)# $7#�)#*� U U *#-)# 4,�# 4, %#��0

*���+ 2�# )� L 	 C �#$��* )� 4���� )�%��-�)	�� 6�# )� ���8 UL = iωLI + �*%�	����

)�%��-�)	� )� 	)����	$)#��	 ω0LI =
√

L/C · I+ 2�# ��� ?7#�#"�(#@ �#)���� (#��1�#
4#��"�+ 2�* $7#�)#� )�%��-�)	� U = RI =$ #%	��))#* $,"� %�	*��� ∼ 1000 · U >�

5�#���# -� $ ��1#)�)�� 4���� )� �*�#��	+ )# $ ��**� UL + UC = 0 + ��� ��� <�	 )�0

%��-�)	� �#2)# $ %�#�	$#3�1�� ����#�)�� �	�(��**� %#��1�)� )� �	��)�� ��e� �	�)#+

2�# ��1#)�)�)�� ��%� *#-�� ��/���$�))# ��	�	$��� $7#�)#
 �	()��U #���#�� ��1#)�)��

�#��	(����� 	*�))# 1� �2�� <�#(# ��	��)	�� �#��1�)	� $#���*���#$+ %#���.2�)),7 �#

$��* <��*�)��* ��%	 	 �# $7#��+ *#(�� �	��)# ��	$	�� )�%#�(#�#$��))#(# )�4�.��0

����� �� %#��#�))#* �#�� ���	7 	)�����),7 <33���#$ )� 4,$���8 )� �.4#* <��*�)��

%#����#$�����)#
 ��%	 )�%��-�)	� *�)�"� $7#�)#(#� ��*��	*+ 2�# )� 	)����	$)#��	

)�%��-�)	� #%���-��� �#� %# 3�1� )� π/2+ � )� �*�#��	 #������8 ��
��$	����)#+ ���

L �)�2��� %�	����,$�.� )�%��-�)	�+ � 1���* $#1)	�)�� �#�U ��� C $)�2��� )�-)#

%���	�� �#� 	 %#��� 1�����	 %#�$	��� )�%��-�)	��

���� #�#4�))#��	 	 � *#/)#��	 $ ��%�7 %���*�))#(# �#��� �� �#%�#�	$��)		 N =

RI2
0 cos2(ωt) � 6�� $��	2	)� *�)����� �'' ��1 $ ����)�� =��� %�#*,"��))#
 2���#�, c'

[�> 	 )��+ ��� %��$	�#+ 	)������.� )� �� �#��4�)	�+ � ����)�� 1)�2�)	� 1� �#����#2)#



���� ��
��� !�� ���"�#�	$� %��� e

4#��"#
 %�#*�-��#� $��*�)	8 〈N〉 = RI2
0/2 � ��	4#�, %#��1,$�.� ���
������


1)�2�)	� �#��+ ��$)#� %#��#�))#*� �#��+ �#�#�,
 )�(��$��� �#%�#�	$��)	� � �#
 -�

<33���	$)#���.+ �# ���� Ieff = I0/
√

2 ��� �	)��#	����)#(# �#��� �)��#(	2)# Ueff =

U0/
√

2 � � �#1���� Ueff = 220�+ � U0
∼= 311��

A�� ��%	 �# ��$	(#* 3�1 U = U0 cos(ωt), I = I0 cos(ωt−ϕ) � 5���)�� *#/)#��� N =

U0I0〈cos(ωt) cos(ωt−ϕ)〉 = (1/2)·U0I0 cos ϕ = UeffIeff cos ϕ � ��%�	*��+ )� 	)����	$)#��	

	 �*�#��	 ����)�� *#/)#��� )���$�� =)�2�*� )�(��$�����>� A�� *#/),7 %#���4	����


N 	 Ueff 1���),� �#<�#*� *��,
 cos ϕ %�	$#�	� � %#���4��)	. 4#��"#(# �#��+ 2�#

)�-�������)# =������ %#���	>� 5����.��� %�	4�	1	�� cos ϕ � ��

_�*��	*+ 2�# %�	 ���2��� *#/)#��	 �#*%����),� 3�)��		 )���#4),� A�
��$	����0

)�� 2���� %�#	1$���)	� IU )� ��$)� %�#	1$���)	. ��
��$	����),7 2����
 =3	1	2���	7

$��	2	)>� �)	*�� 2���� ��(�# #��������� �#���# %�	 �	)�
),7 #%����	�7�

�1 ����� �)��	1� 	1$���)#+ 2�# �.4�� %��	#�	2����� 3�)��	� �������,$����� $


�� ��
�
 Z )�4#� %�#��,7 �	)��#	����),7 ��
������ ��%�	*��+ %#����#$�����0

)#��� %��*#�(#��),7 	*%����#$ �*%�	���, ±1 =?	�%#�2�)),
 �#�	)��@>

KJaD(cos(x)) = (4/π) · (cos(x) − cos(3x)/3 + cos(5x)/5 − ...) ,

2�# ��(�# %�#$������� )� �#*%�.����� �#(�� ���#� )�%��-�)	� %#��)# )� $7#� ��%	+ )�0

7#��� %# #�����)#��	 �#�	+ $,1,$��*,� ��-�#
 (��*#)	�#
 =%#��1���� 	1�#-�)),*	

$,"� �%#�#4�*	>+ � %#�#* ��**	��.� $�� �#�	� ��	*�)�)	� ��	(#)#*���	2���	7 3�)�0

�	
 Z �

��
�������
 ��
�
 Z %#1$#���� �	33���)�	���),� ���$)�)	� %��$���	��

$ ��(�4��	2���	��

��� ���������� ���� !��"� #���

�#1�*�* RC Z ��%� � ��1���#* �#)��)���#��� f��$)�)	�8

R · dI/dt + I/C = 0 ,

��"�)	�8 I = (U0/R) · exp(−t/RC) � ]�������)#� $��*� ��1���� τ = RC � ��%�	*��+

%�	 C = 10−2 
+ R = 0,01 �*+ U = 10 �� =�#$#��)# 4#��"�� 4������> $��*�

��1���� �'' *��+ )�2���)�� *#/)#��� 1010 �� g �' [�� Z ��� � ���%)#
 <�����#���)�		�

�#��1)# 1�*��	��+ 2�# ��%�# )� �#%�#�	$��)		 Q =
∫

RI2dt = CU2
0 /2 %�	 �.4#* R8

���	 �*�)�"��� �#%�#�	$��)	�+ ������ �#� 	 �*�)�"����� $��*� ��1����+ %�	2�* ���+

2�# $�� <)��(	� �#)��)���#�� $,�������� )� �#%�#�	$��)		�

LC Z ��%�8 ���$)�)	� Ld2I/dt2+I/C = 0 U ��"�)	�8 I = I0 sin(ωt) + (�� ω = 1/
√

LC �

�*%�	���� I0 #%���������� 	1 )�2���)#(# ���#$	�8 %�	 t = 0 LdI/dt = ωLI0 = U0 �

��#)2�����)#

I = (U0/ωL) sin(ωt) .

��)#"�)	� �*%�	���, )�%��-�)	� � �*%�	���� �#�� ωL =
√

L/C Z �-� 1)��#*#�

$#�)#$#� �#%�#�	$��)	��



h ����� �� ���������� ���

 	�� ��h�

���#)��+ RL Z ��%�+ )� �#�#��. %#��)# %#��#�))#� )�%��-�)	� U08 LdI/dt+RI =

0; I = (U0/R) · (1 − exp(−Rt/L)) � ���*� )������)	� �#�� τ = L/R �

5�#-)�� ���2�
 %#�)#
 RLCZ��%	� ��2���$�))# %�	 *��#* �#%�#�	$��)		 ����0

��$�))# #-	���� �#��4�)	
+ ��� $ LC+ )# *����))# 1���7�./	7� ��	 4#��"#* -�

�#%�#�	$��)		 �#�-)# 4,�� %#7#-� )� RCZ��%�+ � 	)����	$)#��� �#�-)� ��$��� 1�0

$�� )�2���)#(# 3�#)�� 	*%����� �#�� )� *��#� $��*� L/R� �# <�	 $��	�)�, %#$���)	�

�#$��* )� %#7#-	� �#%�#4��* ��1#4������� f��$)�)	� ��%	8

L
d2I

dt2
+ R

dI

dt
+

I

C
= 0 .

�#%�#4��* �)#$� %#����$	�� I = I0 exp(iωt) � �#��2����� ���$)�)	�

−ω2 + iωR/L + 1/LC = 0 ,

�#�#�#� ��#$���$#������+ ���	 ω1,2 = iR/2L ± Ω+ (�� Ω =
√

1/LC − R2/4L2 �

��# #1)�2��� �#*%����)�� 2���#��9 ��	 R = 0 *)	*�� 2���� #������$���+ ω =

Ω =
√

1/LC 8 	*��* �#4��$�))�. 2���#�� LC Z �#)����� ��	 R > 0+ %#����$	$ ω $

<��%#)�)�� exp(iωt) + %#��2	* �#��4�����),
 *)#-	���� exp(iΩt) + �*)#-�)),
 )�

exp(−(R/2L)t) � �#��2�����+ 2�# *)	*�� 2���� 2���#�, #1)�2��� 1���7�)	��

_�*��	*+ 2�# ���	 �$� 3�)��		 Z ��"�)	� ���$)�)	�+ �# 	7 ��**� Z �#-� ��"�)	�

=�	)�
)#���>� �#%�#4��* 1�%	���� ��"�)	� $ $	��8

A · exp(iω1t) + B · exp(iω2t) = exp(−Rt/2L) · (A exp(iΩt) + B exp(−iΩt)) .

�1 3#�*��, 6
���� (exp(ix) − exp(−ix))/2i = sin(x) � 5������ $,4���� �*%�	���,

A 	 B ���+ 2�#4, %#��2	��� 	*�))# �	)�� =�#�	)�� #1)�2�� 4, ���2#� �#��>� �#(��

I = I0 sin(Ωt) · exp(−Rt/2L) � �%�������* I0 	1 )�2���)#(# ���#$	� U(0) = Lİ(0)8

I =
U0

ΩL
sin (Ωt) · exp

(
−Rt

2L

)
, Ω =

√
1

LC
− R2

4L2
· .

6�# 	 ���� #-	���*,� 1���7�./	� �#��4�)	� � 2���#�#
+ 4�	1�#
 � 1/
√

LC =)� ��*#*

���� *�)�"�
>� ��	 *��#* R 1���7�)	� *����))#� Z 1� $��*� ∼ L/R =�	�� ��i+ (��

%�)��	�#* %#��1�)� #(��)	2	$�./�� <��%#)�)�� ± exp(−Rt/2L)>�

��# 4���� %�	 R > 2
√

L/C 9 �#��)�
√

1/LC − R2/4L2 �#-� %#��2����� *)	*,
 Z

#4� ��"�)	� 1���7�./	��  �"�)	� *#-)# 1�%	���� $ $	�� 8

I =
U0

ΩL

(
exp(Ωt) − exp(−Ωt)

2

)
· exp

(
−Rt

2L

)
, Ω =

√
R2

4L2
− 1

LC
· .
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 	�� ��i�  	�� ���'�

�������)	� �# *���	*�*� 1�)	*��� %�	*��)# $��*� L/R+ %#��� 2�(# 4���� �%�� 1�

$��*� RC =�	�� ���'>� 6�# ���)�� ��)#+ ���	 $#�%#��1#$����� 4	)#*#* ��.�#)� 	 �%�#0

��	�� Ω� �,��-�)	� *#-)# �#����	��+ 	�%#��1�� (	%��4#�	2���	
 �	)��8 KR(x) =

(exp(x) − exp(−x))/2 + �#�#�,
 3#�*���)# %#��2����� ��� �	)�� *)	*#(# ��(�*�)���

�#)��)���#�)�� 4������+ �%#*�)���� $,"�+ *#-�� 	*��� 	)����	$)#��� �' �* g

10−8 [)� ���*� )������)	� �#�� %�	 �#%�#�	$��)		 '+'� �* 4���� � *��� �#�)#$#�

�#%�#�	$��)	� 10−3 �*+ ��� 2�# ��1��� )�%��	#�	2���	
�

_)�� %#$���)	� )��#�#�#
 ��%	+ *#-)# ��1#4������+ 2�# 4���� %�	 ��
������ %#�0

��.2�)		 �� � 	��#2)	�� �	)��#	����)#(# )�%��-�)	�� ��%�	*��+ %#���.2��* LRC

Z �#)���� �#��2�))#� $ %� ��� ��"�)	�+ � 	*%���)��*	 	 3�1#$,* ��$	(#*+ ��� %��$	0

�#+ )� ��#$���$#���� )�2���),* ���#$	�* =�#� )� )���$#
 $ )�2���),
 *#*�)�>� ��

��*#* ���� <�# Z ����)#$	$"	
�� �#�� �)�2��� -� � )�*� �#4�$��.��� �#4��$�)),�

�#��4�)	�+ $,1$�)),� %#���.2�)	�* Z �#�	+ �#�#�,� *#(�� �	����	�#$��� $ �������

��� ��%	+ ���� )� �#1��./	� )�%��-�)	� )� $7#��� �7 	 ������� %#�#4���� ���+ 2�#4,

��"�)	� %#�7#�	�# %#� )�2���),� ���#$	�� 5# $��*�)�* �$#4#�),� �#��4�)	� 1���7�0

.�+ 	 #������� �#���# ����	#)��)�� �#���$��./��� �)��#(	2),� %���7#�),� %�#����,

	1$���), 	 $ *�7�)	2���	7 �	���*�7�

�#��-�*+ 2�# 	*%����),� ��%	 *#(�� $,%#�)��� $,2	���)	�� �#1�*�* RC Z ��%�

� 4#��"	* R+ ��� 2�# %#2�	 $�� $7#�)#� )�%��-�)	� %����� )� �#%�#�	$��)		� �#(��

I = U/R + � )�%��-�)	� )� �#)��)���#�� UC = (1/C)
∫

Idt = (1/RC)
∫

Udt � �� �#)��)0

���#�� �	()�� %�#%#��	#)���) 	)��(���� $7#�)#(# )�%��-�)	� =	)��(�	��./�� ��%�>�

6�# 4���� %�	 RC � τ Z $��*�)	 	1*�)�)	� �	()����

���	 $ �#
 -� ��%	 *��� �*�#���+ ��� 2�# $��� $7#�)#
 �	()�� ?%�����@ )� C+ �#

U = UC = (1/C)
∫

Idt + �#� I = C · dU/dt � �� �#%�#�	$��)		 4���� *���)��	
 �	()��

UR = RC · dU/dt Z �	33���)�	��./�� ��%� %�	 RC 	 τ �

� #4#	7 ���2��7+ 2�* �#2)�� ��%� $,%#�)��� *���*��	2����. #%����	.+ ��* *�)�0
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z = x + i · y .
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(5 + 3 · i) + (4 + 2 · i) = 9 + 5 · i .
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(5 + 3 · i) · (4 + 2 · i) = 20 + 12 · i + 10 · i + 6 · i2 = 14 + 22 · i .
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(5 + 3 · i) · (5 − 3 · i) = 25 + 15 · i − 15 · i − 9 · i2 = 34 ; (x + y · i) · (x − y · i) = x2 + y2 .
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x2 + y2 , arg z = EHXFa(y/x) = arccos(x/|z|) = arcsin(y/|z|) .
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z = |z| · (cosϕ + i · sin ϕ) ,
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(cosϕ1+i sin ϕ1)(cosϕ2+i sin ϕ2) = (cos ϕ1 cos ϕ2−sin ϕ1 sin ϕ2)+i(sin ϕ1 cos ϕ2+cosϕ1 sin ϕ2) .
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ln(ab) = ln(a) + ln(b) .

6�# %�	$#�	� � �#(����+ 2�# ��(�*�)� �#*%����)#(# 2	��� Z <�# )�2�# 4�	1�# �$�1�))#�

� �(# �#(��	3*#*� � ��
��$	����)#+

cos ϕ + i · sin ϕ = eiϕ .
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eiϕ ≈ 1 + iϕ .
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z1 = |z1|eiϕ1 , z2 = |z2|eiϕ2 , z1z2 = |z1||z2|ei(ϕ1+ϕ2) ,
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ln z = ln |z| + i · ϕ .
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